



INSTALLATION CEREMONY AND COC

05/30/2025 05:00 PM | 2ND GROUP

05/31/2025 05:00 AM | SATURDAY

AND COCKTAIL SMALL CREW

05/31/2025 04:30 PM | Stand by Team 05/31/2025 07:00 PM | STRIKE CEREMONY

06/01/2025 01:00 AM | STRIKE TENTING

INSTALLATION

Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063

05/30/2025 10:00 AM | 1ST SMALL GROUP PO: Shipping Address: San Ysidro Ranch INSTALLERS TO DRIVE TO SANTA BARBAR 900 San Ysidro Ln, Montecito, CA 93108

Mindy Weiss

Invoice Date: Due Date: Upon Receipt

Salesperson: Romina Manolio

Price Description Qtty Total **CEREMONY AREA** Custom Made Cabana for Altar 1 \$8,190.00 Т \$8,190.00 Frame in Metal 10'x 10' X10'legs with Top to Reach from 12' to 13' H With white Fabric Cover and Details in Black With Valance Imitating **Reception Valance Total CEREMONY AREA** \$8,190.00 COCKTAIL AREA 5 \$292.50 Т \$1,462.50 Garden Tables - Caserta - Stand Up Table Painted all black 36"Diam x 40"H Barback - Tokyo - Straight Basic 8' X 8'7"h - Metal 1 \$362.70 Т \$362.70 With White Linen Cover with scalloped at the top with black piping 8'W x 18"L x 8'7"H - Frame Color Upon Request 12 \$40.95 Т \$491.40 Ottomans - Standard Pod With White Covers - With Black Piping 18"RND x 17"H - Cover Color Upon Request In stock Pillows -16 \$29.25 Т \$468.00 Black With Details in White White With Details in Black 2 Garden - Caserta - Day Bed \$468.00 Т \$936.00 Frame in Black with Cushions in Canopy in White 4'x8' Coffee Tables - Toronto - Rectangular 4 \$198.90 Т \$795.60 36"W x 22"L x 17"H - Frame Color & Top Upon Request New Garden Club & lounge Chairs - Shakespeare Garden 8 \$292.50 Т \$2,340.00 - Metal Frame in Black with White Cushion

| Description | | Qtty | Price | | Total |
|---------------|---|----------|------------------|-----|-------------|
| 28 | Garden - Caserta - Bistro Table Frame in Black as on Presentation 36"Diam x 30"H | 6 | \$234.00 | Т | \$1,404.00 |
| | Garden - Caserta - Bistro Chairs Frame in Black with Cushion in White | 24 | \$46.80 | Т | \$1,123.20 |
| | Bars - New York - Straight Folding 12' Black frame semi gloss Arcade white inner panels 12'W x 31"L x 42"H - Custom Color Upon Request | 1 | \$1,404.00 | Т | \$1,404.00 |
| | | Тс | otal COCKTAIL AR | REA | \$10,787.40 |
| RECEPTION FAB | RICOUTSIDE | | | | |
| | Custom Made AWNING MATCHING THE BOX VALANCE 10'W X 3'DX 4'H IN BLACK AND WHITE Matching the rest of the entrances and Box Valance | 1 | \$2,106.00 | Т | \$2,106.00 |
| | Custom MAde Fabric Treatment to Cover outside tent 3 Sides In white to Cover approximately 100' x 12'H Pleated time and a half | 1 | \$14,040.00 | Т | \$14,040.00 |
| | Custom Made Fabric Treatment to Cover outside Openings 2'x12'H White with Black Border 3" pleated time and a half | 16 | \$210.60 | Т | \$3,369.60 |
| | Custom White and Black Box Valance this will Be place only on Entrances 5'x 2'H | 2 | \$643.50 | Т | \$1,287.00 |
| | Custom Made Valance White and Black 170' x 2'H With Black Details | 1 | \$2,925.00 | Т | \$2,925.00 |
| | Custom Made Outside Cap for a 40x 60 Tent this will be in Scuba or Poplin Fabric white | 1 | \$8,190.00 | Т | \$8,190.00 |
| | Custom Made Outside Cap for a 20x 60 Tent this ill be in Scuba or poplin Fabric white | 1 | \$3,510.00 | Т | \$3,510.00 |
| | Total | RECEPTIO | ON FABRIC OUTS | IDE | \$35,427.60 |
| RECEPTION FAB | RIC INSIDE | | | | |
| | CEILING TREATMET TO COVER A 40'X 60 TENT WHITE PLEATED THREE TIMES IN POPLIN TO THE CEILING MORE TAYLOR NOT BELLIES | 1 | \$11,232.00 | Т | \$11,232.00 |
| | CEILING TEATMENT TO COVER A 20'X60' TENT WHITE PLEATED THREE TIMES IN POPLIN TO THE CEILING TAYLOR NOT BELLIES | 1 | \$4,329.00 | Т | \$4,329.00 |
| | Custom Made FABRIC TREATMENT TO COVER INSIDE OF THE TENT WHITE WITH DETAIL IN BLACK AT THE BOTTOM TO COVER PLEATED TIME AND A HALF 10'X12'H | 12 | \$643.50 | Т | \$7,722.00 |
| | Custom Made FABRIC TREATMENT TO COVER OPENING ISIDE OF THE TENT | 16 | \$210.60 | Т | \$3,369.60 |

| Description | | Qtty | Price | | Total |
|--------------|--|-----------------------------|-----------------|------------|-------------|
| | Custom Made White and Back Box Valance this will Be place only on Entrances and Other opening 5'x 2'H | 8 | \$643.50 | Т | \$5,148.00 |
| | Custom Made VALANCE TO BE IN BETWEEN PANELS 80' X 2'H WHITE WITH DETAILS IN BLACK | 1 | \$1,287.00 | Т | \$1,287.00 |
| | | Total RECEPT | TION FABRIC INS | IDE | \$33,087.60 |
| RECEPTION PA | NELS & STAGE BACK DROP | | | | |
| | Sconces - Two Arm Offset Crystals For stage 11"W x 19"H | 16 | \$210.60 | Т | \$3,369.60 |
| | STAGE FRONTS | 1 | \$0.00 | Т | \$0.00 |
| | TECH BOOTH PANELS | 1 | \$0.00 | Т | \$0.00 |
| | Custom Made Panels to go in between Drapes Painted in White Arkade 4'x 12'h with molding Detailing | 15 | \$877.50 | Т | \$13,162.50 |
| | Sconces - Two Arm Crystal To Be on Panels 13"w x 17"H 50 Watts | 6 | \$210.60 | Т | \$1,263.60 |
| | Stage Back drop- Rosewood hotel- This needs to be retrofit -40'x 12'H With Panels and Austrian Drapes in Between(Heights need to be shorter- extend the Some of the Austrian Drapes to Reach the 40' Mark) Austraindrapes needs to be new same fabric as the Wall | 1 Is | \$6,435.00 | Т | \$6,435.00 |
| | Total RECEPTIO | ON PANELS & | STAGE BACK DR | OP | \$24,230.70 |
| RECEPTION CH | IANDELIERS | | | | |
| | Chandeliers - Budapest - Crystal 40" 40"W X 45"H - 48lb - 450 Watts | 10 | \$936.00 | Т | \$9,360.00 |
| . a le 11 | | Total RECEPTION CHANDELIERS | | \$9,360.00 | |
| ECEPTION TA | BLE CLOTH | | | | |
| | Custom Made WHITE TABLE CLOTH WITH DETAILS IN BLACK FOR 8' X 40 TABLES | 6 | \$292.50 | Т | \$1,755.00 |
| | | Total RECEPTION TABLE CLOTH | | \$1,755.00 | |
| ECEPTION BA | R AREA | | | | |
| | Barback - Tokyo - Straight Basic 8' X 8'7"h - Metal With Box to Enclose Bar back Painted in Black 8'W x 18"L x 8'7"H - Frame Color Upon Request | 2 | \$877.50 | Т | \$1,755.00 |
| | Custom Made Hanging Black and White Proscenium To enclose Bar area 10x10x 12'H Wood Valance matching the wood Boxes with Fabric Coming Down the side as entrances | 2 | \$4,095.00 | Т | \$8,190.00 |

| Description | Qtty | Price | | Total |
|---|------|------------|---|------------|
| Bars - Chicago - Wood 8' PAINTED IN BLACK LAQUER 8'W x 24"L 42"H - Custom Color Change Upon Request | 2 | \$1,053.00 | Т | \$2,106.00 |

| | | | Total RECEPTION BAR AREA | | |
|----------|---|----|--------------------------|------------|--|
| Services | | | | | |
| | SMALL CREW INSTALLING COCKTAIL AND CEREMONY | 4 | \$650.00 | \$2,600.00 | |
| | TRANSPORTATION | 3 | \$750.00 | \$2,250.00 | |
| | FRIDAY INSTALLATION CREW | 14 | \$650.00 | \$9,100.00 | |
| | SATURDAY INSTALLATION CREW | 14 | \$650.00 | \$9,100.00 | |
| | Stand By Saturday | 2 | \$350.00 | \$700.00 | |
| | Strike Team Over night | 12 | \$650.00 | \$7,800.00 | |
| | Flame Proofing | 1 | \$2,000.00 | \$2,000.00 | |
| | Manager on site - Presentation | 1 | \$4,500.00 | \$4,500.00 | |
| | Hotel Rooms Final Price to be provided At time of booking | 9 | \$776.00 | \$6,984.00 | |
| | Perdiem For Crew | 15 | \$276.00 | \$4,140.00 | |

| Please make checks payable to Revelry, Inc. | Total Products: | \$134,889.30 |
|---|----------------------------|--------------|
| Note: Prior to deliveries and pick-ups all invoices must be pay in full | Total Labor/Services/Misc: | \$49,174.00 |
| Please ready the contract and sign it | Wear & Tear (3.00%): | \$4,046.68 |
| | Packing (2.00%): | \$2,697.79 |
| Notes | Taxes (tax excempt): | \$0.00 |
| | Discounts: | (\$0.00) |
| | Total: | \$190,807.77 |
| | Payments: | (\$0.00) |
| | Balance: | \$190,807.77 |